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QUESTION 1

Scenario: 

A Citrix Architect in CGE\\'s Jurong office has configured a NetScaler high availability (HA) pair to support 

end users in the Southeast Asia region. The office has NOT implemented StoreFront and is using the 

existing Web Interface environment for internal access. External access is provided by Secure Gateway. 

The architect plans to configure the NetScaler Gateway with ICA Proxy to allow remote access. Which 

NetScaler license type is required to support this solution? 

A. User 

B. Device 

C. Platform 

D. Universal 

Correct Answer: C 

 

QUESTION 2

What are the benefits of using a Hosted VDI environment with App-V packages? 

A. It retains the single image management function while allowing users to install applications 

B. It provides a high level of security while allowing user customization 

C. It has a low storage performance requirement and high user density 

D. It delivers low-cost and high application compatibility 

Correct Answer: D 

 

QUESTION 3

Scenario: CGE decided to virtualize its infrastructure workloads and provide a virtual solution to all end users. The
infrastructure workloads include Delivery Controllers, StoreFront servers, License Servers, and Microsoft SQL Servers
for databases. Why is separating the workloads by roles to reflect the OU structure of Active Directory, creating a
resource pool comprising a maximum of 24 XenServer hosts, and implementing a storage repository for virtual disks,
XenMotion, high availability, and disaster recovery backups the best design solution? 

A. It ensures the logical separation of infrastructure and virtual desktop workloads, and facilitates management and
expansion capabilities. 

B. It provides workload flexibility to more efficiently leverage available resources within a resource pool, and facilitates
expansion options. In addition, daily backups create minimal downtime for critical workloads. 
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C. It separates infrastructure and virtual desktop workloads according to resource usage characteristics to avoid
conflicts. In addition, it provides critical database services with sufficient workload-specific resources and failover
capabilities. 

D. It ensures the logical separation of all workloads and virtual desktops. In addition, the backup solution reduces the
risk of data loss and minimizes downtime. 

Correct Answer: D 

 

QUESTION 4

CGE wants to upgrade to SQL Server 2014 in order to support backend SQL databases that will support the next Citrix
environment. The key requirement is high availability for all nodes in the different geographical regions. 

How should a Hosted VDI FlexCast model be implemented to allow end-user-installed applications? 

A. By using Citrix Profile management 

B. By using Personal vDisks 

C. By using statically assigned virtual desktops 

D. By using a network share that contains the App-V packages 

Correct Answer: B 

 

QUESTION 5

Scenario: 

CGE needs to define its management process for desktop image releases. Some groups need a process 

for version control that includes thorough testing prior to production. Why does using Windows Deployment 

Services and installing Windows applications into an image help manage the image versioning process? 

A. It reduces application deployment time. 

B. It standardizes the application deployment process. 

C. It facilitates the use of App-V packages. 

D. It automatically deploys the latest drivers and patches. 

Correct Answer: B 
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